K

(LN_) dN /dJn|

Ratio to ATLAS

.
U1

1N

o
&

2.5

1.5

0.5

0.5

~t
~t

7000 GeV pp

71 ~ r - T T 1 T T 1
n(K‘S’) (ATLAS KS and A in ttbar)

B ATLAS
--G-- Herwig++ 2.6.1a default
--3-- Herwig 7.2.1 default

u ]
————— F}-------------H
om BT -
_——"— - —G -----------
________ a I
. o
________ o
@ _____
—| | | | ] | | ; | | | | | |
:l | I I I [ T T T T | T t
B NN -
- - ] i
e |y o 2
I O @rmmmmo O P - -

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


